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PART A: Vocabulary

Directions: Choose the word or phrase (1), (2), (3), or (4) that best completes each sentence.
Then mark the answer on your answer sheel.

I would like to compliment Jaden for the course of action he recommended because |

think it will ~-——eeeeeev our problem once and for all.

1) sequence 2) speculate 3) signifv 4) settle

AN =eceeeeeeee js often expressed as a simile, as in “The football game was like a battle
hetween gladiators.”

1) endeavor 2) invasion 3) analogy 4) arena

Do you know of an alternate route we could take to -----—-—-- having to drive through
the city?

1) circumvent 2) delight in 3) partake of 4) suggest

My political science professor presents her lectures in a relaxed manner using —-----—-—--
rather than elaborate language.

1) loquacious 2) colloquial 3) literary 4) inflated

My uncle, a farmer, is an -—--—eeeee pessimist when he discusses the weather. For

example, if the sun is shining, he’s sure a drought is beginning; if it’s raining, he's sure
his crops will be washed away.

1) initial 2) instant 3) immutable 4) interactive

The pharmaceutical company had to - --- its advertising claim regarding the
healing power of its new arthritis medicine because research studies clearly indicate the
medicine isn’t effective.

1) repudiate 2) enhance 3) distribute 4) replicate

IS an -—eememeeee- to their friends as to why the couple broke up because they seem
perfect for cach other.

1) interference 2) inference 3) alteration 4) enigma

Mr. Baker has decided to move to a big city because of a -—-—- --- of employment

opportunities in his small hometown.
1) demonstration 2) foundation 3) trace 4) dearth
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9-  There are many good reasons for not smoking, but those having to do with health are

the most ——-eeeeeeeee,
1) passionate 2) cogent 3) paradoxical 4) accidental
10- -—-—--e—- therapy is a psychological approach designed to help individuals change
harmful thought patterns to more constructive ones.
1) Inherent 2) Thoughtful 3) Cognitive 4) Epidemiological

PART B: Cloze Test

Directions: Read the following passage and decide which choice (1), (2), (3), or (4) best fits
each space. Then mark the correct choice on your answer sheet.

The earliest human artifacts showing evidence of workmanship with an artistic
purpose (11) ====eemeee-- the subject of some debate. It is clear that such workmanship
existed some 40.000 years ago in the Upper Paleolithic era. (12) -—----vn---- it is quite
possible that it began earlier. In September 2018, scientists (13) -==mmmmmmmm- the
discovery of (14) ---=-eeeeees by Homo sapiens, which is estimated to be 73.000 years
old. much earlier than the 43,000-year-old artifacts (15) -------—----- 10 be the earliest
known modern human drawings found previously.

11- 1)are 2)is 3) has been 4) was
12- 1)as 2) when 3) since 4) although
13- 1) who reported 2) reported 3) having reported  4) to report
14- 1) known drawing the earliest 2) the earliest drawing was known
3) the earliest known drawing 4) known as the earliest drawing
15- 1) that understand 2) understood
3) were understood 4) they are understood

PART C: Reading Comprehension

Directions: Read the following three passages and answer the questions by choosing the best

choice (1), (2), (3), or (4). Then mark the correct choice on your answer sheet.

PASSAGE 1:

Succession is the slow rebuilding of forest gaps from natural or human disturbances.
When major geological changes such as volcano eruptions or landslides occur, the
current vegetation and soil may erode away leaving only rock. Primary succession
occurs when pioneer species such as lichens colonize rock. As the lichens and mosses
decompose, a soil substrate forms called peat. The peat, over time. will create a
terrestrial ecosystem. From there on herbaceous, non-woody plants will develop and
trees will follow. Major holes or gaps in the forest ecosystem will take hundreds of
years 1o regenerate from a rock base. Secondary succession occurs where a disturbance
has taken place but soil remains and is able to support plant growth. It does not take
nearly as long for plant regeneration to occur because of the soil substrate already
present. Secondary succession is much more common than primary succession in the
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tropics. Secondary succession occurs in four distinct phases: First, rapid colonization
of cleared land by species such as herbs, shrubs, and climbers as well as seedlings
from pioneer tree spucius occurs and this can last up to three years. After that, short
lived but fast growing shade intolerant species form a canopy over 10 to 30 years.
Non-pioneer heliophilic tree species then add to the biomass and species richness as
well as shade tolerant species and this can last 75 to 150 years. Finally, shade-tolerant
species regain full canopy stature indefinitely until another major disturbance occurs.

Secondary succession in the tropics begins with pioneer species. which are rapidly
growing and include vines and shrubs. Once these species are established, large
heliophilic species will develop such as heliconias. Cecropias are also a major
pioneering tree in the tropics and they are adapted to grow well where forest gaps are
giving way to sunlight.

According to the passage, in secondary succession ———----—-----,

1) shade tolerant species come after shade intolerant species

2) soil remains only if a disturbance occurs for a short time

3) seedlings from pioneer tree species last up to three years

4) full canopy stature is indefinite until another disturbance

Which of the following is in the correct order with regard to ‘primary succession’?
1) lichens=> herbaceous plants=>peat 2) lichens=>peat=>herbaceous plants
3) peat=> lichens=>herbaceous plants 4) peat=>herbaceous plants=>lichens
It is stated in the passage that vines and shrubs in secondary succession

1) decompose to form the main soil substrate

2) increase species and biomass richness of land

3) can manage rapid colonization of cleared land

4) rebuild forest gaps through human intervention

The passage points to the fact that ————meeeev,

1) large forest ‘gaps’ regencrate from a rock base

2) landslides are a very common geological change

3) plant regeneration occurs mineral-rich substrates

4) there is little primary succession in the tropics

The word “heliophilic’ in the passage (underlined) means *-----cmeeeeeee - loving'.
1) “soil’ 2) ‘air’ 3) *sun’ 4) *water
PASSAGE 2:

An intact forest landscape (IFL) is an unbroken natural landscape of a forest ecosystem
and its habitat-plant community components, in an extant forest zone. An IFL is a
natural environment with no signs of significant human activity or habitat
fragmentation, and of sufficient size to contain, support, and maintain the complex of
indigenous biodiversity of viable populations of a wide range of biota genera and
species, and their ecological effects. IFLs are estimated to cover 23 percent of forest
ecosystems (13.1 million km2). Two biomes hold almost all of these IFLs: dense
tropical and subtropical forests (45 percent) and boreal forests (44 percent), while the
proportion of IFLs in temperate broadleal’ and mixed forests is very small. IFLs remain
in 66 of the 149 countries that could potentially have them. Three of these countrics,
Canada, Russia, and Brazil, contain 64 percent of the total IFL. area. Areas with
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evidence of certain types of human influence are considered “disturbed™ and not eligible
for inclusion in an IFL: settlements (including a buffer zone of one Kkilometer):
infrastructure used for transportation between settlements or for industrial development
of natural resources, including roads (except unpaved trails), railways, navigable
waterways (including scashore), pipelines, and power transmission lines (including in all
cases a buffer zone of one kilometer on either side): agriculture and timber production;
industrial activities during the last 30-70 years, such as logging, mining, oil and gas
exploration and extraction. peat extraction. Areas with evidence of low intensity and old
disturbances are treated as subject to ‘background influence’ and are eligible for
inclusion in an IFL. Sources of background influence include local shifting cultivation
activities, diffuse grazing by domesticated animals, low-intensity selective logging and
hunting.

According to the passage, -—--—---eeeuv,

1) mixed forests form a relatively large portion of the world’s IFLs

2) IFLs cover 23 percent of forest ecosystems in Russia and Canada
3) 8.4 million km” of the world’s IFL area is in three countries only

4) only very limited logging and mining is allowed in an IFL area

The passage mentions that the status of an IFL is pot affected by ----eeeeeaeee,
1) ‘road infrastructures’ 2) *background influence’
3) ‘buffer zones’ 4) “timber production’

According to the passage, -
1) boreal forests form around %10 of forest ecosystems

2) timber should not be produced industrially in an IFL

3) type 11 IFLs can take a minimum habitat fragmentation

4) *disturbed’ IFLs make up around %15 of the world’s IFLs

The passage points to the fact that — e

1) low intensity and old disturbances take place in most small IFLs

2) fuel is produced through peat extraction and gas exploration

3) viable species contain an accepted range of biota genera

4) an IFL. may contain unpaved trails but not a seashore

The word ‘diffuse’ in the passage (underlined) is closest to -—--v=ex —

1) *scattered’ 2) *focused’ 3) ‘permanent’ 4) "unusual’

PASSAGE 3:

Forest disturbances are events that cause change in the structure and composition of a
forest ecosystem, beyond the growth and death of individual organisms. Disturbances
can vary in frequency and intensity., and include natural disasters such as fire,
landslides, wind, and volcanic eruptions, outbreaks of insects, fungi, and other
pathogens, animal-caused effects such as grazing and grampling. and anthropogenic
disturbances such as logging, pollution, the clearing of land for urbanization or
agriculture, and the introduction of invasive species. Not all disturbances are
destructive or negative to the overall forest ecosystem. Many natural disturbances
allow for renewal and growth and often release necessary nutrients. Small-scale
disturbances are the key to creating and maintaining diversity and heterogeneity within
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a forest. Small-scale disturbances are events such as single-tree blowdowns, which
create gaps that let light through the canopy to the understory and forest floor. This
available light allows early-successional shade-intolerant species to colonize and
maintain a population within the dominant forest, leading to the complex spatial
mosaic forest structure recognized as old-growth. This process is referred to as patch
dynamics or gap dynamics and has been described across many types of forests,
including tropical. temperate, and boreal. The sets and patterns of natural disturbances
that characterize a particular area or ecosystem are referred to as the ecosystem's
disturbance regime. A natural community is closely linked with its natural disturbance
regime. For example, temperate and boreal rainforests typically have a disturbance
regime consisting of high-frequency but small-scale events, resulting in a highly
complex forest dominated by very old trees. In contrast. forests that have a disturbance
regime consisting of high-severity stand-replacing events. such as frequent fires, tend
to be more uniform in structure and have relatively young tree stands.

It is stated in the passage that the understory and forest floor —-——e-eeeeenev,

1) develops by introducing invasive species

2) contains several shade-intolerant species

3) can get light through single-tree blowdowns

4) is a gap that lets light through the canopy

Which of the following is not mentioned in the passage as a ‘forest disturbances’?
1) “flood” 2) *wind’ 3) "logging’ 4) *grazing’
According to the passage, boreal forests —----—--eeeevev,

1) located in tropical and temperate zones

2) face frequent high-severity fire events

3) are relatively less uniform in structural

4) are entirely formed by old-growth trees

We understand from the passage that ——eeeeeeme,

1) landslides are a feature of ancient forests

2) “disturbances” are necessary for growth

3) patch dynamics create young tree stands

4) *old-growth” may not form without light

The word ‘trampling’ in the passage (underlined) is best related to —---eeeeeev "
1. *dry’ 2. ‘walk’ 3. ‘eat’ 4. *pull’
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